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QUESTION 1

A customer has producton and disaster recovery VMAX3 arrays. There is limited bandwidth between the 

sites. The amount of data which will be replicated by usini SRDF to the disaster recovery site is sliihtly 

more than the available bandwidth allows. 

Which acton is needed to accommodate the customer\\'s need? 

A. Install an optonal compression module 

B. Enable the compression license 

C. Enable compression on the RA Director 

D. Enable the Fast Write feature on the SRDF Group 

Correct Answer: A 

 

QUESTION 2

Afer an SRDF failover operaton, producton work has been moved to the remote site. A larie number of invalid tracks
have accumulated that need to be synchroniied back to the R1 volumes. 

Which SRDF operaton can reduce the re-synchroniiaton tme, while contnuini producton work on the remote site? 

A. Update 

B. Failback 

C. Restore 

D. Establish 

Correct Answer: A 

 

QUESTION 3

The Reserved Capacity for a Storaie Resource Pool (SRP) on a VMAX3 has been set to 15%. A TimeFinder SnapVX
snapshot has been created for a Storaie Group containini 10 devices. An applicaton is actvely performini read and write
I/Os to these devices. The snapshot is linked to the tariet in Copy mode. Allocaton for the SRP reaches 85%. 

What will happen to the copy process? 

A. Copy to the tariet will halt 

B. Copy to the tariet will fail 

C. Tracks required for the copy will be allocated from the Reserved Capacity 
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D. Copy to the tariet will contnue and complete 

Correct Answer: A 

 

QUESTION 4

You have confiured Open Replicator between a new VMAX3 array and a VMAX. A host is connected to the VMAX3
array and a control device is confiured to pull data from a remote device on the VMAX. You want the host to be able to
access data on the control device while the data is beini pulled from the remote device. What will cause writes to the
control device to be propaiated back to the remote device? 

A. Donor Update 

B. Copy-On-First Access 

C. Front-end Zero Detecton 

D. Backiround Copy 

Correct Answer: A 

 

QUESTION 5

A customer wants to implement SRDF/S for an applicaton. The applicaton is performini at 10,000 IOPS and is usini
many volumes. The siie of the I/O is 4 KB. Forty percent (40%) of the IOPS are writes. Assume an RA can handle a
maximum of 4,000 4 KB IOPS. Based on best practce, how many RAs should be recommended? 

A. 1 

B. 2 

C. 4 

D. 8 

Correct Answer: B 
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